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e Please check that this question paper contains 16 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The
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General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viit)
(ix)

(x)

31/2/1

The question paper comprises two sections, A and B. You are to attempt both
the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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T A
SECTION A

39 guaTdE At % Ugd @ el o Av-gd fafagu fEet yericrs T
~COOH? |

Write the molecular formula of the first two members of the homologous
series having functional group — COOH.

HE] | AT YR TR U Icqd i arel M 1 AW fAfa |

Name the organs producing sperms and ova respectively in humans.

e ffia ferl @ aifiast & am fafeg |

Name any two man-made ecosystems.

frafafad o @ 79t IT-giede W Eiget wWafda o 1 99 gy |
39 AAN@ T 3ATYAH I (£ 1) IR TETdH B0 (£ r) | 3Afehd HIT |

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

gicitef h1 ATl & ITANT & HRO YA W IS4 a1l i BTfeheh el
%I Ieoig HITT | 39 ATt 1 g quTet foshed 3T |

Mention three harmful effects of wusing polythene bags on the
environment. Suggest an effective alternative to these bags.
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“Sareel SuHl T STAMT AfTah HSHUT 1 Teh R0 3 |7 39 HYH & 9 § SR
afT |

“Burning fossil fuels is a cause of global warming.” Give reason in
support of this statement.

3 A AT iRenl 1 AW fafgu A ST UewiEial @ 3l § ®9idid
T H fohan Srar 2 | (1) forema wdieron, 3R (i) difead gEeieM FeEHe & wY
AYTRIT & IMYR W TINTA 3T TAHTSH 37 o sig faded Sifvru |

Name two oxidising agents that are used for the conversion of alcohols to
acids. Distinguish between ethanol and ethanoic acid on the basis of
(1) litmus test, and (ii) reaction with sodium hydrogen carbonate.

HIU d §U AT HIfT o6 v a1 B foh e T @1 O geRe S Eehal @
3R T C4~ FUMRE ST Hhal 7, T T§ TggAIs A ST 3 S fagga
FATcAH Bl @ 3T FehT = Tetares IR i a/aeMTes 8T # |

Explain, giving reason, why carbon neither forms C** cations nor

C*~ anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point.

foret oTmad Trelt § awal o it o T oI germe Wl g H 9T
T 1 AT IUYh T FAT T 11 8 2 MY Tad aweft 7 (1) feref
ad § a1 3 | € 3 IH W, 3R (i) FReh o # W F = 9 W
a1 difcash @&l fohe YR af@fad giaT & ? o794 I i R0 Afgd g
HIT |

Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

fepelt e <l oAy HEE 20 R |

(a) 39 a9 1 Soiai-eh T for@ert soeht waistehar faffa Shifse |

(b) T IE O G1q @ AT YT ?

(c) 38 d % s 1 g fafan |

(d) N g 9@ Mg (W] T 12) i gar § At rfufsramsfiar 2
J1erET A IAUTRATEAE ? 379 I <l R Tfgd gfee hifvw |
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The atomic number of an element is 20.

(a)  Write its electronic configuration and determine its valency.
(b)  Isit a metal or a non-metal ?

(c) Write the formula of its chloride.

(d)  Is it more reactive or less reactive than Mg (atomic number 12) ?
Give reason for your answer.

St ° fafimar form g 3cq9 Bt 8 2 “fafvmar wfiefis i Soshifaar sam
@A o 39t B |7 39 e it gfee forelt 3erewr <t wgmrar & i |

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

gTegHad 991 7 ? ToRelt T St o1 3grewn SifSTT St 39 ufshan i guiin B 3R
T Sfid S 39 fshAT 1 @l ST 8 | 91 aTel Sial § geewad 991 T8l s ?
What is regeneration ? Give one example of an organism that shows this

process and one organism that does not. Why does regeneration not occur
in the latter ?

mify w8 2 Tl @ fafemt & 9w fafae | 57 fafomt 1 swm foedt
IfER & @ IR Tl ® TE €9 9 fhg YR ywifad war 8 ? el
@ fermgatl =1 Ieci@ HifT |

What is contraception ? Name any two methods. How does the use of
these methods have a direct effect on the health and prosperity of a
family ? State any three points.

37 AMTAIOT T Teh IeTe0l ST fSaent 3w I8 f[Ayiia o § fomn o @
2 o5 Sa faovm & uai A < wiisfis fohae frepe 8 |

Give an example of the characteristics being used to determine how close
two species are in evolutionary terms.

fopet 7% Tfefit & 3gWa # HEE fohgl o HRehl hl Fa! SR HR TH
#1 yftrepr o1 37 fawa # 3g@ A |

List any three factors and mention how they could lead to the rise of a
new species.
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foreht o\ gro s wfdfersr &1 emads -1 8 | Ifg ufdfers i < o ThIRH
H5 A gt 25 cm B, A fora et feora 2 2 58 o 1 wfa 3 wieka gl 91a
Hifvw | Ife fora 1 T8 & JRIREH g hl AR 15 cm TAERANRG H g
e, ot wfdafers shat S 2 379 I i gfse fortr i@ Eiwet Fif |

The magnification of an image formed by a lens is —1. If the distance of
the image from the optical centre of the lens is 25 cm, where is the object
placed ? Find the nature and focal length of the lens. If the object is
displaced 15 cm towards the optical centre of the lens, where would the
image be formed ? Draw a ray diagram to justify your answer.

@ hl HegEd § T HIf foF aguecia svadd fhd YR 1w qaie
3R focfea gareq i aftaet o e ITEr @ | 38 9itdedn o R0 gl W
e i1 srafy 4 fopaan o= &1 S 2 2

With the help of a diagram, explain how atmospheric refraction is
responsible for the advance sunrise and delayed sunset. How much time
difference does it cause on the duration of day on the Earth ?

Il AT 6l Hed & I8 d= oAt T wal & @ () ' & fou s
WL Bd & | T o1 384 IUER-9T | I8 9¢1 fh 9K | 3Uaiey 39
SIS % Bl o W H $S T qoh USHATIN UTT T | 38 AR 98 SATHSA &l
TS, Fifeh FShATel BAR T o fO7Q BTHeRt B1d & |

(a) 3T AT HIATSH 1 FTR FSHAET GRI Al o &I ol GG HEAT
fore TR THETE ?

(b) T HE ATl g foh ITg FIHAH TN FUR 3teaT 7= et o IR A
ToST Hleh HfEd BId Sd & 3R T HH1 § AU & W FHR S hl
AIET e B 95ad & | 39 qNEeAT &1 W 3R 3ok fow
ferfaa |

Your mother always thought that fruit juices are very healthy for

everyone. One day she read in the newspaper that some brands of fruit

juices in the market have been found to contain certain level of pesticides
in them. She got worried as pesticides are injurious to our health.

(a) How would you explain to your mother about fruit juices getting
contaminated with pesticides ?

(b) It is said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.
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TR 1 B 8 ? TRl I fhE YR SR AT B ? BF arel AfufshAr @
TEES i fafgu | 1 Bia1 3 9 hls TET HifeIn Eeiadss & a1g
AfYfeRan wtar 8 2 39 AfsRan o1 Tames gfietor, 9m 3t 3y fefign |
What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with
sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

Tl 3 Iwfert gt o1 Ush-Ush 3aTeT0 i | i | B &l T o
T YR & o= fadgT HfS | #2131 3 J9 w5 wrrew Rt s afdem
T Ugd AT & ? IS H oS FAfor 7 B areft weei % 9R | fafen |
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens
when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary.

Sfiamen &1 g & ? Sharen fohd YR oFd 8 3R Rl o11g o1 fair fhm
YehR foram STTar 8 2 A9 fam@ & 37eaa | Sfiaredl & Hewd ol Ieoi@ iy |

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.

I o F % T H foragll (u) % Wy fdfers-ghl (v) % foeor s gl et
ffeRaa Yeror arferent w1 fagervor HifSg it aftsem fepg fom & fferfaa

e forrgt e 20
qe&1 u (cm) v (cm)
1 - 60 + 12
2 -30 +15
3 -20 + 20
4 -15 + 30
5 -12 + 60
6 -9 +90

(a) I E I BT g Tehal @ ? 319 I o TOIT SR0T T |
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(b) @8 foraglt (u) Ta T Eeh! deed gfafaragl (v) 981 781 8 | I8
faserd a19a form weRR femTeT 2

(c) s off IWH YAHT AR Y0 & 4 & fou foor smag wifew ik
G T AT HH T4 I |

Analyse the following observation table showing variation of
image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

S. No. Object-Distance | Image-Distance
u (cm) v (cm)
1 - 60 + 12
2 -30 + 15
3 -20 + 20
4 -15 +30
5 -12 + 60
6 -9 + 90

(a)  What is the focal length of the convex lens ? State reason for your
answer.

(b)  For what object-distance (u) is the corresponding image-distance (v)
not correct ? How did you arrive at this conclusion ?

(c) Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of
magnification.

(a) e guui o ded # fefafaa ugi i i i

i) ga

(i)  shdl g
(iii) ~ Sshal =
(iv) H&I 3J&

(b) (i) 3TFad gUur, I (i) ITAA UV % T BIhd ol g & g fomom
Mm@ Eifew |
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fafafag s #, MM’ g 37add <4 @ 9971 AB IS fora 8 | 39
fora &1 ufdfers s91 quid & fou 1ot S-gfeqe @ foor em@
Hife | 5

\1%%
MI
Define the following terms in the context of spherical mirrors :

1) Pole

(11) Centre of curvature

W —> >

(iii) Radius of curvature
(iv)  Principal axis

Draw ray diagrams to show the principal focus of (i) a concave
mirror, and (ii) a convex mirror.

In the following diagram, MM is a concave mirror and AB is an
object. Draw on your answer-sheet a ray diagram to show the
formation of image of this object.

M
i
C F B f

o
e A9 & fefefigd s v =1 wRt fafeg .
(i) I
(i)  gRaTiEn
(i)  fspeeefta (SAfims) <
(Gv) vemneft ufsmat
(v) e

9 P.T.O.
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g Ak 1 m ¥ HA g W feord ol ol v 781 o@ wran | 98 fohd
gfe aw | difsd B 2 39 gfSe QY o1 SRV 3R IUYH <F g SEHI
T g % fore fomor st it |

Write the functions of each of the following parts of the human eye :
(1) Cornea

(i)  Iris

(iii)  Crystalline (Eye) lens

(iv)  Ciliary muscles

(v) Retina

A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams
to illustrate the cause of the defect and its correction by suitable

lens.

qmra
SECTION B

frafafaa amft o sg==i °§ 9 fhaeh IT=RT 919F s 4 fohan 51 &ehar & 2

(A)
(B)
(®)
(D)

9 &1 9 IR hfeaan EeiHEs
WU 1 del 3R AfSIH F5giaarss
Tt aa R ifsam wEgimEe

fm 1 9t 3R AEfifsem wEgiAES

Which one of the following sets of materials can be used to prepare soap ?

(A)
(B)
(®)
(D)

Neem oil and calcium hydroxide
Castor oil and sodium hydroxide
Mineral oil and sodium hydroxide

Neem oil and magnesium hydroxide
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IR TATTRITEAT § R S sH o 7T a1 1 7 | F=fafad @aon a9z
H ¥ 38 "g &l g, ek fhet off T @au @i 19 gd Ia H et

FHSK A YT HL Thd & | 1
(A) NaCl; NaySOy; KCI

(B) NaCl; CaCly; KCI

(C) CaCly; CaSOy4; MgSO4

(D) NagSOy4; CaSOy; MgSOy

You are asked to prepare hard water in your laboratory. Select a group

from the following groups of salts, any salt of which you may dissolve in

distilled water to obtain hard water.

(A)
(B)
(®);
(D)

NaCl; NaySO,4; KCl
NaCl; CaCly; KCI
CaCly; CaSOy; MgSOy4
NagSOy; CaSOy4; MgSOy4

Ifg 3y fopet Tl ¥ $ YA T ool 3UH THH AT § UHifew T
firemd it f gm0 s 1 weft-wifa feamd o o2 wag & fou 38 qweeed
g T o fZaATu-gaT W@ ¢, a1 @9 5 e 9= 31d &R Yeor Rl ? 1

(A)
(B)
(C)
(D)

Hifeew v & T W A < 91 |

I3 AHT WEA! I Tt WS @ 8 |
WA | T 4 & geige et ©@ |
e ¥ e, URH IReel faeeH &9 T 2 |

If you take some distilled water in a test-tube, add an equal amount of
acetic acid to it, shake the test-tube well and leave it undisturbed on the
test-tube stand, then after about 5 minutes, what would you observe ?

(A)
(B)
(®);
(D)

There is a layer of water over the layer of acetic acid.
A precipitate is settling at the bottom of the test-tube.
Bubbles of colourless gas are coming out of the test-tube.

There is a clear, colourless transparent solution in the test-tube.

11 P:T.Q.
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fiee | g i ufshan o fore f=faiRaa el @ & @@t shem/HeAt &t gHT

I. S IR g A1 31 Fafd wifmeeet ¥ fauriad gt 8 31k I@f
ek 1 31fEdca gHTed |1 ST 2 |

II. 389 <reffha hegeh @ A1 3Afersh Hafd shegent § fawmfom &rar 2 |

III. S % % fohell TRy & § i3 gopel SWAT § |

IV. S % ¥ T 8 & 99T §Hd qui faehiad gieht 71 T&6ad Sid &4
ST 2 |

A)  Had I (B) e III

(C)  haet 11 3R III (D) e III 3R IV

Choose the correct statement(s) on budding in yeast from the following :

I A parent cell divides into two or more daughter cells and here the
parent identity is lost.

II1. In this the elongated nucleus divides to form two or more daughter
nuclei.

III. A bud arises from a particular region on a parent body.

IV.  After detaching from the parent body the bud grows into a new
independent individual.

(A) Tonly (B) I1I only

(C) II and III only (D) III and IV only

frafafea § & gusta 31 &1 9= g

(A) =HGS % 9@ AR foaet % 7@

(B) e % UE 3R IHCE & U@

©) o % v iR w3 T

(D) &< o IS, T & IUITE N fSuehell & 3w

Select a set of homologous organs from the following :

(A) Wings of a bat and wings of a butterfly

(B)  Wings of a pigeon and wings of a bat

(C)  Wings of a butterfly and wings of a pigeon

(D)  Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard
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30. forelt B &l HI3 Teh1lrh Ik &1 18 2 fowreh! wishw gl or g & wfdafors =1
i 1 & e § 39 e ¥ 24 om gl W U 98 W B Feh F1q Bl

2 138 I & 9R § Tdl A g | 1
(A) 12cmqoﬁwa§r$r3ﬁaz&m

(B) 24 cm BI%H gl I I oF

(C) 24 cm WIHd g &1 IFadA ol

(D) 12 cm BIHH G H1 I ¥

An optical device has been given to a student and he determines its focal

length by focusing the image of the sun on a screen placed 24 cm from

the device on the same side as the sun. Select the correct statement about

the device.

(A) Convex mirror of focal length 12 cm
(B)  Convex lens of focal length 24 cm
(C)  Concave mirror of focal length 24 cm
(D)  Convex lens of focal length 12 cm

31. A % Wig H oA gt o fortor &1 9 3Rfed i & fae feafafea o
T aY YT SaEn v 1

<
/

(A)
(B)
(®)

(D)

31/2/1

IT
ITI

IAY
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Select from the following the best experimental set-up for tracing the
path of a ray of light through a glass slab :

e
/.

I II I vV
A 1
B) I
(C) I
D) IV

32. fifafgd sm@ d SH-H & S0 F&l 3Afehd fohy T & 2

A) G (B) <had Li3M LA
C) Zi,Lr3dW LA D) Li, AW ~sD

In the following diagram, the correctly marked angles are

(A) Al (B) OnlyZiand ZA
(C) ZLi,Lrand ZA D) ZLi,ZAand ZD
31/2/1 14
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33. & Y fRHl 3T <E NI Uk &Y o, TEehl Arpfd A @ T8 8, %
wfcfers sl ¢ W BlefHd id &, a1 ud W Afdfars i stepfa et fowrs <t
27

(A) (B)

(©) (D)

When you focus the image of a distant flag, whose shape is given below,
on a screen using a convex lens, the shape of the image as it appears on

the screen is

(A) (B)

©) (D)

31/2/1 15
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Ife sy vHifesw st & Ffafaa g1 Toremt & Seron i fard forem
& T g1 Se, a1 3T @ fore 2

G) Ty

(i)  Tofen® @ ywmE

Il AT Th WEAA H Th Feohl HITSIT BN Hla-e T3S oot
3IGH g-Sg ik UHICH TR TIel, Al T God &l o Y&or il ?
forgl 31 gea Jeqoit 1 gt R |

If you are asked to report your observations about the following
two properties of acetic acid, what would you report ?

(1) Odour
(11) Effect on litmus

If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately ? List any two main observations.

el ‘T % WfiT & yur & faftEm 9 B ggEE wET H T KA 7
Aok gRI AYATS S aTed! Ufsham i v hifsra |

You have to perform the experiment, “T'o identify the different parts of an

embryo of a gram seed.” Describe the procedure that you would follow.

S & AFATRR TAd T 45° & HIV T Yfad Y fhor <1 g2 mfeq
FIfTT | 319ada whivr, Tl o 3R wE ¥ 9 ) R § g9 g aiidass
e < 99 fafau |

Trace the path of a ray of light incident at an angle of 45° on a

rectangular glass slab. Write the measure of the angle of refraction, the

angle of emergence and the lateral displacement suffered by the ray as it

passes through the slab.
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